SPECTRUM Parts Information:
B Electric Wheelbarrow 150kg Capacity

Products Model No: CSWBI

Item | Part No. Description Qty Item | Part No. Description Qty
1 CSWBI-01 Wheelbarrow Frame 1 20 CSWBI-20 Battery 2
2 CSWB1-02 Handle Frame, Left Side 1 21 CSWBI1-21 Rubber Plate for Battery 1
3 CSWB1-03 Handle Frame, Right Side 1 22 | CSWBI-22 Battery Cover Plate 1
4 CSWB1-04 Beam 1 23 | CSWBI-23 Power Switch 1
5 CSWB1-05 Wheelbarrow Tray 1 24 | CSWBI1-24 Controller 1
6 CSWB1-06 Wheelbarrow Brace 1 25 | CSWBI-25 Powet Socket 1
7 CSwB1-07 Handle Grip 2 26 | CSWB1-26 Battery Cable 1
8 CSWBI1-08 Wheel 1 27 CSWBI-27 Battery Connect Cable 1
9 CSWB1-09 Motor Control Element 1 28 | CSwWBI-28 Fuse 30A 1
10 CSWBI-10 Washer for Wheel 2 29 CSWBI-29 Steel Nut M4 Zinc 4
n CSWBI-11 Locking Washer for Wheel 2 30 | CSWBI-30 Hex Screw 4
12 CSWBI-12 Nyloc Nut M16 Zinc 2 31 CSWBI-31 Machine Screw Pan Head Phillips M4 6
13 | CSWBI-3 Csk Phillips Machine Screw M6X20 | 9 X10mm

Zinc 32 | CSWB1-32 Nyloc Nut M4 Zinc 6

14 CSWB1-14 Flat Washer M8 Zinc 9 33 | CSWB1-33 Hex Bolt & Washer Set M5x12 4
15 CSWBI1-15 Hex Head Set Screw M8 X 40 Zinc 2 34 | CSWBI-34 Nyloc Nut M5 Zinc 2
16 CSWBI1-16 Nyloc Nut M8 Zinc 4 35 | CSWB1-35 Machine Screw Pan Head Phillips M5 2
17 | cswei-7 Nyloc Nut M8 Zinc 9 X12mm
18 | CSWBI-8 Hex Head Set Screw M8 X 45 Zinc 2 — | CSWBI-36 Chrager (Not Shown) !
19 CSWBI-19 Battery Box 1

Note: It is our policy to continually improve products and as such we reserve the right to alter data, specifications and component parts without prior notice.

Important: No Liability is accepted for incorrect use of this product.

Warranty: Guarantee is 12 months from purchase date, proof of which is required for any claim.

Compass and Spectre Ltd
60 Sunderland Road
Sandy

SG19 1QY

Tel 01923269377

Page 10f 1 [ CSWB1 Issue:1 05/09/25 ]




